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Algebra I CP Quarter 2 Review Chapters 6 and 8
Find the x-intercept. 7. (2_, 7), (5, 6) \
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Decide whether the graphs of the two functions

are parallel lines.
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Write an equation of the line in slope-intercept
form.

14. The slope is —5; the y-intercept is 7.
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15. The slope is 10; the y-intercept is —3.

Write an equation of the line shown in the
graph.
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Write an equation of the line that passes

through the point and has the given slope. Write
the equatlon in slope-intercept form.
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Write an equation in slope-intercept form of the
line that passes through the points.
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Write an equation in point-slope fornx of the line
that passes through the given points.
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A quiz consists of 5 true and false questions. How
many different sets of answers are possible?
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A test has 10 multiple choice questions with 5 answer

choices for each question. How many different sets

of answers are possible? to
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The local prison is making new license plates for
New York. If the plates use a pattern of

1 letter 2 numbers 2 }etters 1 number
[0t 2% (o .

how many different combinations are possible if

letters and numbers may be repeated?
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Tony is getting a sandwich from the local deli. There

are 3 different breads, 4 meats, and 2 cheese.

selections. How many different sandwiches
containing 1 bread type, 1 meat and 1 cheese could
he make?
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52. What inequality is represented by the following
graph?
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53. What inequality is represented by the following
graph?
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Simplify the radical as far as possible.
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Find the exact and approximate distance between
these two points in a coordinate plane.
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63. (15, 2) and (20, -10)
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64. Find the exact distance from point A to point B.
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65. A square has a diagonal length of 14 meters. What is
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the exact length of one side?
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66. A square has an area of 1,000 square units. What is
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67. A cube has a volume of 2 cubic s. What is the
exact length of an edge? 3
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68. Find the exact length of the hypotenuse of a right
triangle if the two sides are 6 and 3.
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69. Find the length of the diagonal of a square if its K
area is 128 square centimeters.

70. Find the length of the missing side.
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71. Find the length of the missing side.
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